
The handling of tbl text blocks

The line length is set to 6.4i in this document; there is no indentation.All tables use the ‘expand’ keyword to
make them as wide as the line length; the three table rows in a table are left-justified, right-justified, and centered
(from top to down using table key characters). Within a row the text blocks use left-justification, right-justifica-
tion, and centering (from left to right; this is done with explicit ‘.ad’ requests within the text blocks).

The width of the leftmost and rightmost horizontal space is fixed (1 ‘unit’); they are present if the table starts or
ends with a vertical line, respectively. The width between columns can be configured; it defaults to 3 ‘units’.This
‘unit’ is 1n for unexpanded tables and scaled accordingly if the ‘expand’ keyword is used.For the tables below
this makes 8 such horizontal space values. Theleftmost and rightmost vertical lines do not take part in the calcula-
tion; close inspection shows that they are drawn in the margin.

Te xt blocks are formatted within diversions before the remaining parts of the table are constructed.

The first table uses the ‘e’ modifier to get columns of equal width.Since no text blocks widths are specified, the
default values are computed as ‘LC/ (N+1)’, with ‘L’ as the text length, ‘C’ the number of columns spanned by the
current column, and ‘N’ the total number of columns in the table. Thus we have 6.4i / 4 = 1.6ias the width of a text
block – note that this value gives the line length within the diversion; the effective line length as used in table (after
processing the diversion) might differ considerably: Within a diversion, starting whitespace is retained, but trailing
whitespace gets discarded. The largest horizontal width value is used to compute the column width; due to the
right-justified text block it is 1.6i. This gives (6.4i−1.6i−1.6i−1.6i) / 8 = 0.2ias the width of the separation space.
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The next table doesn’t use any modifiers. Thismeans that the natural widths of all entries are used (to be more ac-
curate, the width of the widest entry in each column is used).While the text block widths are the same as above
(1.6i), the natural widths of the diversions are used. The width of the string ‘foo’ is 0.185i, thus the width of the
left-justified text block is 0.185i, the width of the centered block is 1.6i/ 2+0.185i / 2 = 0.893i,and the width of the
right justified block is 1.6i.Using these values we get (6.4i−0.185i−0.893i−1.6i) / 8 = 0.465ias the width of the
separation space; naturally, the middle column is far wider than the other twos.
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The final table sets the column widths explicitly for the text blocks (using the ‘w’ modifier).We use 1.9i for each
table; this yields (6.4i−1.9i−1.9i−1.9i) / 8 = 0.088ias the separation ‘unit’.
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